Installation manual
RotoShelf®MD 1250/2 FA

ceasyyfill

Clever store shelves

Version 2 - 18. 5. 2020



STANDARD SET - RotoShelf® MD 1250/2 FA - TOP Art. No 0193-000

RotoShelf MD 1250/2 FA packing details

RotoShelf MD 1250/2 FA packing details

SET ) ) ) Product Weight/ Qty SET ) ) . Product Weight/ Oty
Picture packing Picture Art. No . Picture packing Picture Art. No .
Art. No name item Art. No name item
1/4 Top Part 0193-11000-0 | 3,900 kg A 0193-410000 | 1,811 kg| 4
Housing
; Shelf 70
E Bottom Part 0193-18000-0 | 12,200 kg = universal 400418 1,195 kg| 4
£ i = .
o = U. = white
(5 Q = o
SSe -
2 é & Adjustable L(H) =4 Frontstopper
S8 M 0193-13000-0 | 4,494 kg S8 UNI 70 H| 0070-00113 | 0,235 kg| 4
? x £ frame x £ 113
M LT 9‘ A=y mm
o ® = S =
il 2
O < l E
< Handle for [z} Divider Uni 70-
Q - -
g l i 0193-30000-0 | 0,415 kg g 5 white 400393 0,044 kg| 28
. Plastlabel
m;"?;‘fc;'f;?ne 0193-60000-0 | 0,446 kg RSOOF11 400450 0,020 kg| 4
: 585+37+0,8
Top console - |3 55001-0 | 0,670 kg She”_m 0193-41000-0 | 1,811 kg| 4
A LEFT Housing
Shelf 70
— } T°p|;g”:$'e' 0193-52001-1 | 0,670 kg z universal 400418 1,195 kg| 4
TS ' E white
- 3 o
E 1 [Te) 82
QE X ) B ] — X8 Frontstopper
8 82 o 0 °TECFC¥‘S°‘3 0193-51001-0 | 1,403 kg 8 o) UNI 70 H|l 0070-00113 | 0,235 kg| 4
' = <
o X% ! [@Rali-) 113 mm
S84 =3 82
oI 3
8D 2
8 S ; » .
2 T . B°“f’g‘|gﬁ”f°'e 0193-51001-1 | 1,403 kg g D""ggzvﬁ’]?t'em' 400393 0,044 kg| 28
o £ . = [
© 9, ~ b
© L
o
Plastlabel
;;73%";‘; 0193510020 | 0,471 kg RSOOF11 400450 0,020 kg| 4
585+37+0,8
Connecting
mat. for- | 0193-53000-0 | 0,208 kg
Brackets

&easy/ill

Clever store shelves




RotoShelf MD 1250/2 FA packing details

EXTRA SET - RotoShelf® MD 1250/2 FA

RotoShelf MD 1250/2 FA packing details

SET ) ) ) Product Weight/ Qty SET ) ) . Product Weight/ Oty
Picture packing Picture Art. No . Picture packing Picture 3
Art. No name item Art. No name item
Bottom Shelf | 0155-44100-0 | 1,800 kg| 2 5. = Shelf_m 0193-41000-0 | 1,811 kg| 1
(1 Housing
T N
£ Shelf Shelf 70
< S Universal 620 400394 2,170 kg| 2 E universal 400418 1,195 kg| 1
- %3 Gray O £ white
LD o - 1 ~
o X = Qo
o = o o=
= ok Frontstopper O x2 Frontstopper
fo 2 UNI620 High H 0620-00113 0,213 kg| 2 8 52 UNI 70 0070-00113 0,235 kg| 1
£ 113 mm ™S ?gﬂ H 113 mm
©
a 2 §
Divider Easyfill O% Divider Uni 70:
ivider Easy & ivider Uni 70-
e 400476 0,050 kg| 16 e 90 white 400393 0,044 kg| 7
/
W e brackets A Plastlabel
= ‘S»% ’ 25130 0193-51003-0 | 0,471 kg| 4 P RS90F11 400450 0,020 kg| 1
St — 585437%0,8
2/ 4 Il Top console - Y v
B I LEFT 0193-52001-0 | 0,670 kg| 1
Ik Top console - y >
I RIGHT 0193-52001-1 | 0,670 kg| 1
€
E
g Bottom console| 145 51001.0 | 1,408 kg| 1
: = -LEFT
(<)
8 ('7) I
4%
] Bottom console
2 ¥ o
2 . : T 0193-51001-1 1,403 kg| 1
£ . - e
& =3 ~
Q. -
brackets
25/32 mm 0193-51003-0 | 0,471 kg| 4
Connecting
mat. for - 0193-53000-0 | 0,208 kg| 1
Brackets

easyfill

Clever store shelves



Rotoshelf MD packing

Rotoshelf MD packing

. ACCESSORIES . ACCESSORIES
details details
Weight Weight
Picture Product name Art. No e.:Lg / Qty. - Picture Product name Art. No e.J.g / oty
item item
Shelf 70 Housing | 0193-410000 | 1,811 kg| 1 Lrba o = Divider 'Zg;yﬁ” uni 400476 0,050 kg| 1
Shelf 70 universal e Divider extender
white 400418 1,195 kg| 1 - | =483 mm 889090 0,030 kg| 1
:
Price List 0,050 kg| 1 ~‘i‘, Pusher 0118-00000-0 0,050 kg| 1
=3
T = Dl\nde\l;vlr;l;;m—go 400393 0,044 kg| 1 Rollertrack 400392 0,150 kg| 1
) |Frontstopper UNI70I 447060113 | 0,235 kg| 1 Handle for frame | 0193-30000-0 | 0,415 kg| 1
[ H 113 mm
Frontstopper UNI 70 y Frontstopper UNI620 |
H 54 mm 0070-00054 0,112 kg| 1 High H 113 mm 0620-00113 0,213 kg| 1
/,
. ‘ 1 Frontstopper UNI 70 y o Frontstopper UNI620 y
H 163 mm 0070-00163 0,345 kg| 1 _— Low H 54 mm 0620-00054 0,150 kg| 1
e
/
// Plastlabel RS90F11 Frontstopper UNI620
T 400450 0,020 k 1 f , 0620-00163 0,330 k 1
e 585*37+0,8 9 | ExtraHigh H163 mm 9
"] Divider extender
Bottom Shelf 0155-44100-0 1,800 kg| 1 . 889091 0,020 kg| 1
L= L=300 mm
Shelf Universal 620 400394 2170 kg| 1
Gray

Clever store shelves



i

12
& o
7

=V~

S

ceasyfill

Clever store shelves




RS MD FA measurement

ceasyfill

Clever store shelves 6



~ -500 ml PET

__ -@65mm 6x 4=24 = 96
ﬁ - 0,48 m2 7 X 8=56

{ 1242

2
!I»» : 'p-.--ﬁl»
(©)©)

|

"' ., 'll {

11111

P "";

| l (=

[@)©]6]06)
2

|
lli )

I :l"' & o

906006
@@ cioio/o 06
O )it e .| O B Ot B

N

|!|"' ' " o



O

Z2(Q<
oo

A=1E=]

X olo

LS| B|(w|wlw

T-.111

weow e o
Al bl =A==
QIO |||

(L)

Z

¥

MMMMM

P1234

(@)

<

= =1R=1E=1Ex

(14 oolo|l @

<L 2NV

o O mm ©

o _n_.,u.n_v..v..m

bl ol B

= o olo|o

(=]

=

o

om N ||

8

ceasyfill

Clever store shelves



. No 400450
ceasyfill
Clever store shelves 9

SET Art.No. 100515
Art. No. 0193-40000-0 (4x)
hite Shelf 70 Housing h




wire cutter

M8 x 70 ISO 7380-2

4 x

@
RIVET NUT M8

4 x

M8 x 50 ISO 7380-2

3 x

i
Y
M8 DIN 934

10 x

E

M8 x 16 1ISO 7380-2 M8 x 16 DIN 603 D8 DIN 125
6 x 8 x 2x
ALLEN KEY 4
1x

M8 x 20 ISO 7380-2

12x

>
N/

Mg DIN 934
12 x

=
D& DIN 125

12 x

0127-30010-0

2Xx

ceasyfill

Clever store shelves




Installation of brackets
Art.No. 0193-50000-0




Art.No. 0193-50000-0

>
N/
M8 DIN 234
= 12 x
M8 x 20 ISO 7380-2
12 x =D

e
D8 DIN 125

12 x

0193-51001-0 —
1x 1x

0193-51001-1 L

0193-52001-0 0193-52001-1

1x 1x '
25 mm
M8 x 20
5 - J .
0193-51002-0 ALLENKEY 5
4x

ceasyfill

Clever store shelves



o O e S s S e S s S e S s S e Y s S

Art.No. 0193-50000-0

ol Left

bottom L/R

OO CO O O O CO O O 3 e e

bottom L/R

Clever store shelves



Installation of frame set
Art.No. 0193-01000-0

M8 x 70 ISO 7380-2 M8 x 50 ISO 7380-2 M8 x 16 ISO 7380-2 M8 x 16 DIN 603 D8 DIN 125
4x 3x 6 x 8x 2x
-
@ ‘@?-
/)
RIVET NUT M8 M8 DIN 934 ALLEN KEY 4
4 x 10 x 1x

0193-11000-0

1x

=T 019

L

1x

3-18000-0

0193-60000-0
1x

ll@'

0193-30000-0
2x

0193-13000-0
2x

ceasyfill

Clever store shelves




Art.No. 0193-18000-0 Art.No. 0193-11000-0

ceasyfill

Clever store shelves



Installation of top part
Art.No. 0193-11000-0

téhsyﬁll

store shelves



2x
L/R

Art.No. 0193-11000-0 + top brackets

L easyfill

Clever store shelves

17



1230 mm

)
1

ceasyfill

Clever store shelves



ceasyfill

Clever store shelves



I

ceasyfill

Clever store shelves



/

- e

60 mm \

POLYGRIP

ceasyfill

Clever store shelves



Installation of bottom part
Art.No. 0193-18000-0

ceasyy/ill
Clever storeys‘{?lves 22



Art.No. 0193-18000-0 + bottom brackets

4

Clever store shelves

23



ceasyfill

Clever store shelves



25

ceasyfill

store shelves

Clever



Adjustable frame — 0193-13000-0

o1se-13oo1-o—\| 0186-13001-0— | ™~
Y g h o o E \\\‘
0186-13001 0_\ £ 0155-00085-0—_» z
o o i
o] ~—
: B 2 H =
0155-00080- o o
LN g 0155-00080-0—__ 3

0155-00085-0—{1
N 70 mm
< 1
0155-00084-0—/\3 30 mm ! % !

L3
F 3 9

1080 mm 5 ™~ p B~
0155-00080-0—_ ~_ O ~
0186-13001- S | o18s-13001- S

5 £ 1‘ 0155-00085-0—— E i
0155-00084-0—— £ s N E ;
_ £ [ ) : :
3 3 ‘ 0155-00084-0—" » B :

o =

O195-00080-07 ¥ 0155-00080-0—— g
S \ E
\r g ~ W ‘f _ o < E

ceasyfill

Clever store shelves




! BASE POSITION !

ceasyfill

Clever store shelves






13

ceasyfill

Clever store shelves



30

store shelves

ceasyy/ill

Clever




,_.a r,
! \
! \
H @
ﬂ o | ,_
“__._.__.W__ ______.________. .__.._._._u_._.“r__.um_m__m_” _n__._“___w_%__m___w___..._ ._a_..._ y! ;___n .4_ I F___n,__ _._.___._____.__, _"._q___,_,___n.___ W____W.___
| I [ L | T__—_L.:”___H___.._,;._, inn sl ;_:”_,.L______;:L_____:”:. ___:_

31

ceasyfill

Clever store shelves



ceasyfill

Clever store shelves

32



ALLEN KEY 4

\ .4.,__,_,__5__%_;;, ;,.,__ ._

,«:,?,__L_;_;._

1y
ﬂ.,|1T )
R ||
N WL

)2
f_;,

o

I

i

syﬁll 33

Clever store shelves




0

e
ROW
\}
S

Y /
ooy
=
.
=0

\

3

=]
= A
T |
= A

Clever store shelves



(et el [
.ol..l. s*&NW«\\*.U\\*.l\ A

=~ =
REARLIE AL

N 7]
‘ / N
R

S

26

N/ N\

2\
AN

B: i

by e <y Ay

7758

A2

77 iy b s

\ & =7 =7, =7, =
I G s L L U
LA L TLT )

25

35

ceasyfill

Clever store shelves



SET Art.No. 100514
Art.No. 0193-70000-0 (2x)

Divider EasyFill Uni 620 Bottom Shelf Shelf Universal 620 Gray
Art. No 400476 Art. No 0155-44100-0 Art. No 400394

Rl S
b \\ —" -
SRS \\\\‘\\ \\
SN
N

/

RS
N

\ .
\\‘\\ SR 8
SR \‘\\ \\\\‘ SN \\‘
R e \\\ o\t\\‘
SR LR L \\
SN

SSRITEE
i
g
.\\\‘\‘\\‘\“\\‘\\\‘\\\\\ S8 s
ity

e

\ \‘ \‘\\ \\\ R \\ o

\\\ \\\ 0 ‘\ \u\\\\\ R \\\\\ e
RSN

R
2 3
\\ S
it il \\\\\\\\
\\\\ \\
VIR

7
‘//

A
LAt
\\\\ =

2

,/

s
AN = AR T
SR SRR N = ‘\ N
- \:‘\\\ o\«\\\\e\. \\\2\\\\ R
s \\ 2 R o \\‘\\\.\ \\\ R \\\ s S

R

R

\\ \ \\ \\\\
i \‘?\\\
\\ AR \\\\\ S \ o \\\‘\\. \\\‘\
\\ \

NN
\\\ SRS
\\\\ N
\\

\\

N
SR
\\‘\\ \\‘
\\\ I

3

s \\\

o

S

R R o

R T i RIS \\\
R T -

\ RN Y \\\\\\ \\ ) \\\\\ \\ o

2 \\\ 3R

SN N -\\\
\‘ o~ \
§\\\‘\\\ SN T \\\\\\
\ \\\\\ A = S \\
SRS R \\\‘\ \\“\‘
L \\\ T \
o

\ RN -
28 ~‘\\\\\~\\\§ ..
\\ \\\ B ‘\\\ N \\‘\\\\\\ u‘\ \\\ R \\\ \: R
s B ‘\
5 A
\ i

‘\-\'\‘\‘Q
\\ \\

T

L
SR
\\\\\\\ \\\ S S
\\ BN \\ SN \\\\ \\\\‘\\\ e \
R S
" \\ SR LR \‘\\

— \\\\
Ly \\‘
\ \\\\
\\\

S8
3
o \ o \
‘\\‘\\\e:\‘\\ -, 3
Rt \‘\\\. \\ R SETESS \\\\\ R
'\ \

o
AR \\ s \\\\ i \\ o
e \ \\ L

S 5
— \ — \ “ \\ \\\
R R \\‘.\\‘\. SN
\\ \\
RN \\\\

\‘ \\
. \\\ SR
T

\

s
\\\\

N TR T
) R Y =
S \\\\ SRR \\\“. SR \\‘ R

SNNSS \\\
e S

R \\\\ \\\\\ SR \\\ \\\ \\\ R
R S S
\. \\ L A \
s RS \\\\\\\\\\\\ _ SR :\ \\\\\
S \\ ‘\\ R B N \

N

T

5 BN i

\\\\ \\ N P AN \\\ \\ \\\\.:‘ A

SIS R
SRR \ TR TN = \\\\‘
Y T s oy \\\\\ o
S \,.\y\\\\ Sy \o \\ e \\ \\ \\ ‘\ \\ \\‘\\ \\ N \\\\.
\\_\\ o R N \\

Frontstopper UNI 620 High H=113 mm
Art. No 0620-00113

ceasyfill

Clever store shelves



Installation of bottom shelf

Art.No. 0193-70000-0 (2x)

37

ceasyfill

Clever store shelves



28

27

38

ceasyfill

Clever store shelves




Gl

D, )

)

)
7
&®,®\

7

@

7,

7

7% %
&&@@m@\
e, Y
i
/.

)
7
Y,
v§§®w®\
)
WA,

w\\\

%
A

7

@

39

ceasyfill

Clever store shelves



Vos ity ic- 2 200 2 A

f=f—t— /g

36

,_ w»/m«\% NN /4

LSRR R LA,
N\~ Tl &t S/ \
3 3= ¥ - s
¢ ¢, & e é, o

NS

40

ceasyfill

Clever store shelves



Multiple installation

%)
i \w
)\ \ M-..l

W
\
\

AP\ |

41

ceasyfill

Clever store shelves



37

ceasyfill

Clever store shelves



ceasyfill

Clever store shelves



Clever store shelves 44



45

ceasyfill

Clever store shelves




Thanks!

www.easyfill.se

ALL PICTURES SHOWN ARE FOR ILLUSTRATION PURPOSE ONLY. éhsy ll
ACTUAL PRODUCT MAY VARY DUE TO PRODUCT ENHANCEMENT. 46
ALL CHANGES ARE RESERVED BY EASYFILL. Clever store shelves



